
Subject 24-242. Logic 11. Answers to the Seventh Homework 

1. Take a sentence a so that cl is provably equivalent to (Bav,,([ral]) V BaypA(['-all)). Is a 
decidable in PA? Is it true? 

PA t ( ~ e w , , ( [ r ~ ] )  - a), and so, by Ltib's Theorem, a is true and provable. 

2. Show that, for each n, one can find an arithmetical formula T ,  such that, for each sentence 4, PA 
t ( [ ' @ l <  [nl - ( % ( [ ' @ I )  - 4)). 

Let's say the sentences less that n are 4,' 4,' ...., 4,. We can take z,(x) to be the formula 
((x = [rail] A 4,) V (x = [r421 A 4,) V ... V (X = [r4,1] A ad). 


